31. A two stage circuit is shown in Figure 9. It’s BJT parameters are 8, = ; = 100, (10]
VBE1 = Vgge = 0.7V.

a) Determine all node voltages and terminal currents under DC analysis

b) Determine overall voltage gain of the circuit
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Figure 9: Question 31

Answers:
Node currents: Ipg; = 12.785uA  Ic1 = 1.2785mA  Igy = 1.29mA gy = 2747pA

Icp =2.743mA  Igy = 2.775mA ,
Node voltages: Vg1 = 4573V Vo1 = Vg2 = 875V Vi = 945V  Vgo = 7.4V

Vi = 3.873V
Small signal parameters: Tr1 = 2.033kY  rpo = 947.867%2
Voltage gain: Ayq = —1.639  Ayz = 0.985 Ayr = —1.614
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